The points A, B, €, D have coordinates (3, 2), (-4, 3), (5, 63, (4, —1), respectively.

{a)
()

{c)
(d)

The points A, B, C. D have coordinates (=5, 0}, {0. 5). (3. 4) {4, -3), resperiively.

(a)
(b}
tc

{d)

Show that the Hines AC and BD are perpeadicuiar.
Show that the tine AC has equation
2x-y-4=0
and find the equation of the line BD.
Find the coordinates of £, the poinl of infersection of AC and BD.

Find the length of AE.

Show that AC is parpendicular to BD.
Show that AD is parallel © BC.

Show thar ths equation of AC is
" - ' X-2p+35=0
antl find the equation of BD.

The lines AC and BD intersect at E,
(i) Show that the coor@inaies of F are (1, 3L

(i} Find the length of AE.
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The points A, B, C, D have coordinates (~1, 3), (L, 7. (2, -1). (5, &), respectively. The line AB is

paralie] to the lne CD.
(€} FI0 e STAGIENT O AH, {2
{3) Showthatk=5. 13]
(¢} The iine L is perpendicular to CD and passes throngh the point A. Show that the eguation of
Lisx+2y-5=0. {31
{d} Thelne Linwersects the line CD at the point E. Find the coosdinates of E. 4]
June 07

The poims A4, B, € have coordinates {2, 3), (10, —1), {3, 8} respectively. The Hne through €
perpendictdar to AD intersects AB at the poin: D.

{aj
(b

(c)
{d}

Find the gradient of AB,
Show that AB has equation
x+3y-7=0
and find the equation of £,
Show that D has coordinartes {1, 2).
The mid-point of AB is dencied by E. Find the leneth of ED.
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